REV | BY DESCRIPTION DATE ITEM | PART # DESCRIPTION QTY | UNIT WT
A | Ky PRopiiET?SSS/Egg;LENTs 11/23/2016 1 | RTNPF-TK-G14C GALV. 1/4" HIGH TINSEL STRENGTH CHAIN, CUT @ 10' LONG 1 7.00
2 RT4007.05 NON-PENETRATING FRAME BENT PLT TIE BRACKET 2 0.90
3 27-4303-005 GALV. 1/2" x 2" GR.5 BOLT 2 0.16
4 27-5200-005 GALV. 1/2" FLAT WASHER 4 0.04
5 27-5210-005 GALV. 1/2" LOCK WASHER 2 0.01
6 27-5222-005 GALV. 1/2" HEX NUT 2 0.04
7 27-5180-005 GALV. 3/8" x 8" J-BOLT W/ 3/4" SPACING 2 0.31
8 27-5010-005 GALV. 3/8" FLAT WASHER 2 0.02
9 27-5020-005 GALV. 3/8" LOCK WASHER 2 0.01
10 27-5030-005 GALV. 3/8" HEX NUT 2 0.02
QTY:
CHK:
THIS DESIGN AND INFORMATION “Ab) MATERIAL: DRAWN BY: TITLE: NON-PENETRATING ROOF FRAME
CONTAINED ON THIS PRINT IS THE -
STANDARD TOLERANCES: PROPERTY OF NEWAVE TOWER AS SHOWN Ky TRAY TIE DOWN KIT
(UNLESS OTHERWISE NOTED) COMPONENTS LLC. ANY HOLES: CHECKED BY:
FRACTIONS ~ +1/16" TRAT R O o T AS SHOWN - [ SERIES: ROOFTOP/ WALL MOUNT
Rﬁgl_l‘l’_:'éLs i-g(.)go IS PROUIBITED WITHOUT Tower COMPONENTS. 503-792-3739 [FINISH: DATE: PART WT (BARE): | DRAWING NO. SHEET:
WRITTEN PERMISSION. 10910 PORTLAND RD. BROOKS, OR 97305 HDG 11/23/2016 10.1 LB RTNPF-TK| 1 OF 1




